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Sight of sm60° = i and proceeds to x” =k oe M1 I.Ib
x=A12=23* Al* 2.1
(3)
®) | Uses BC? =(633) +(4/3) ~2x 63 x44/3xcos60° M1 | Llb
BC* =84 Al 1.1b
BC =221 (cm) Al 1.1b
(3)
(6 marks)
(a)

M1: Attempts to use the formula 4= %absin .

If the candidate writes 1843 = %x Sxxsin60° without sight of a previous correct line then

this would be MO

M1: Sight of sin60° = gur awrt 0.866 and proceeds to x* =k oe such as px’ =g

This may be awarded from the correct formula or A=absinC

Al*: Lookfor ¥’ =12=x=23. ¥’ =4x3=>x=23or x:x-"ﬁ:;'ﬁ

Th;L 'I-U o l'I"i'\.l'I:llTl anaiver EII'II-I ':I.” menaclte et I'\l'-"‘ rrrreed 'I-I'II".|1IF1'I-I'II'I' mne r\rﬂ"u:l EII'\.I'\'I.'I'-“



May 2018 Mathematics Advanced Paper 1: Pure Mathematics 1

2.




May 2017 Mathematics Advanced Paper 1: Pure Mathematics 2

3.




Jan 2011 Mathematics Advanced Paper 1: Pure Mathematics 2

4.







